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QUESTION 1
Click the Exhibit button.

Referring to the exhibit, which three steps would you take to solve the problem shown in the event log? (Choose three.)

A9/7M512:09:22 AM (07:09:22) 55985 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7M512:09:22 AM (07:09:22) 55986 1018 Fibre channel link up — Host-side: controller in slot A, port 2
A9/7/15 12:09:26 AM (07:09:26) 55990 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7/15 12:09:26 AM (07:09:26) 55991 1018 Fibre channel link up — Host-side: controller in slot A, port 2
A9/TI15 12:09:30 AM (07:09:30) 55993 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7115 12:09:30 AM (07:09:30) 55994 1018 Fibre channel link up — Host-side: controller in slot A, port 2
A9/7/15 12:09:33 AM (07:09:33) 55996 1017 Fibre channel link down — Host-side: controller in slot A, port 2
A9/7M1512:00:33 AM (07:09:33) 55897 1018 Fibre channel link up — Host-side: controller in slot A, port 2

A. Swap out the SFP in the controller port

B. Swap out the FC cable

C. Reinitialize the FC switch

D. Move the connection to another controller port
E. Swap out the HBA on the FC switch

Correct Answer: ABC

QUESTION 2

Which file contains the configuration for a multipath driver for FC on Linux systems?
A. letc/kernel/mp.conf

B. /opt/multipath/multipath.cnf

C. /etc/multipath.conf

D. /etc/dm-multipath.conf

Correct Answer: C

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP12404601

QUESTION 3

Your company has deployed an E2824 and has decided to change the host protocol from iSCSI to FC. You use the
storage array profile to review the installed SFPs.

In this scenario, which set of supported data rates indicates that you are using dual-purpose SFPs?
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A. 25 Gbps, 10 Gbps

B. 32 Ghps, 16 Gbps, 8 Gbps, 4 Gbps
C. 16 Gbps, 10 Gbps, 8 Gbps, 4 Gbps
D. 16 Gbps, 8 Gbhps, 4 Gbps

Correct Answer: C

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2773527 (2)

QUESTION 4

Click the Exhibit button.
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Referring to the exhibit, which cable is an InfiniBand 4X connector?
A. 3

B.1

C.2

D.4

Correct Answer: C

Reference: http://www.admin-sys.org/IMG/pdf/Hardware_Universe.pdf
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QUESTION 5

What is represented by the Headroom graph on the SANtricity System Manager performance tab?
A. the percentage of I/O associated with the backend disk drives

B. the remaining performance capability of the physical objects in the storage system

C. the percentage of CPU processing capacity that is being used by the operations on the system
D. the resources that are being consumed by a defined workload

Correct Answer: B

Reference: https://mysupport.netapp.com/NOW/public/eseries/sam_archive1130/GUID-8538272A-
B80249D9-9EA2-96C82DAD26A2/GUID-8538272A-B802-49D9-9EA2-96C82DAD26A2_2.pdf (379)
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